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Answer either in English or in Assamese

1. Answer the following as directed : 1x10=10
ot frarRenes o PR T fa

(a) Is truth property of an argument?

Terel I B e ?
(b) The conclusion of an Inductive argument/
Deductive argument is always probable.
( Choose the correct answer )

BT SR e/ Remere e P
AR FSRARET |
(o et A Sfersan )
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(2)

(c) An argument has two premises/one
premise/no fixed number of premises.

( Choose the correct answer )

9Bl IFET O1 W IH [/ G5 HWR /A /
YR I54F CBICA A8 F2=m 713

(o= Tea0h! MR Shiear )

(d) Syllogism is an immediate deductive
inference/mediate deductive inference.

( Choose the correct answer )

T 951 SN A SR/ Wgw e
SN |
( wm Teqch AR Sfeear )

(e) Which term in a syllogism is present in both
the premises, but absent in the conclusion?

TRE IO oM ALl SRR IS e
e, 8 Frams S eiEs A 2

(f) An A proposition can be converted simply.
( Write True or False )

GB1 A I67 AT AYIS I 17 |
( 3751 1 fay feran )
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(3)

(g) State the position of the middle term in the
Third figure of a syllogism.

TR POR ES (27w FCO! SCerd 1 |

(h) Write the Greek symbol used to mean a
‘Null set’.

‘e 712fS’ IERta IR 4 AT AR
fera |

(i) Symbolise the given proposition by means of
set notation :
frafeRe wmam A3 o RS AR
<41

All Philosophers are wise

HPcel e =8 Sl

(/) Two sets having the same member are
called ;

( Fill in the blank )
T T AP Y01 FRf P o = o

( <1 3R [T T )
2. Answer the following : : 2x5=10
Tere fAICAEs Ted fira
(a) Define Conversion by Negation.
g FHRS9 e fum |
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(b) Give example : Venn Diagram.

w39 o ;o= foa

(c) What is the fallacy of four terms?
vt o WA 32

(d) What is Infinite set?
AT A2 T F 2

(e) Write two differences between mediate and
immediate inference.

TN SF A SN+ &S 761 14T o<1 |

3. Answer any four of the following : 5x4=20
wore fran A e wifdbE Te1 ford

(a) State any two differences between
Deductive and Inductive arguments.
e Ife s T e wee &
CRTCAT o1 1Y TCas <41 |

(b) What is a figure of a syllogism? Demonstrate
the figures of a syllogism with proper
symbolic form. 1+4=5

TRA EE T 7 WAEE AN
P TS H FECIR0!1 o7 1 |
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(5)

(c) What do you mean by oppositions of
propositions?

1 Reafde Ifeca & 3= 2

(d) What is simplification of propositions?
Simplify the following sentences into logical

form : 2+3=5
P AP I B2 e Iem
T HPRLA AIAPIT 1 :

(i) All that glitters is not gold.

TP SIOR I8 CTIT 712 |
(ii) Any student can do this.

R I Ta2 9301 IR A |

(iii) Virtuous alone are happy.

GG AR T |

(e) State the special rules of the Fourth figure.

5o WFFA Rem e SeEy 241 |

(f) What are subset and superset?

Topiafe we wfEgefe s 2

4. What is an argument? Explain the relation
between argument and argument form. 2+8=10

e = 2 o 9= Lo T ATR A=A
2T=01 341 | :
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(6)

Or / 9211

Write an explanatory note about the relation
between truth and validity. 10
Aorel WE (IMOR A TAE @Bl RIS
ot o1 |

5. What is square of opposition? Explain it with

diagrams. 2+8=10

I3 Rarfger Isfera 1 @ ? ez e <41 |
Or / 911

Define proposition. Write briefly about the

four-fold scheme of proposition. 10

EUme i I e SR SR CE DR I S S Tl e 2 (6
fora 1

6. Explain the Venn diagrammatic technique to test
the validity of syllogistic arguments with suitable

examples.
TR TS (SAba fafe A IR (T
T Y c3qe 2419 IR AR, AT 40

Or / 941

Prove the validity of the following syllogistic
arguments with the help of Venn diagram : 5+5=10

wore fran R YfesTyza (Iqel (SAivad TS 2
41
(a) Some philosophers are mathematicians
All scientists are mathematicians
.. Some scientists are philosophers

10
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(7))

g wffee =1 sffdeoe
e e =7 afdes
g Reet =0 wffer

(b) All humans are mammals
No humans are cats

. No cats are mammals
FPCel 2 W THe i

CFICAT TR T Al
I RPN T2 B &

7. What is a set? What is set membership?
Symbolise AEIO propositions by means of set
notations. 10
A M &2 2 AOT I @M ? RS T
AZWS AEIQ I 2SI TS AP F41 |

Or / 991

What is operation of sets? Explain different kinds
of operation of sets with examples. 10

AR dfem IPra & Ju 2 Tzaew e Rfew
PR FIs2feq AfeEE T 40|

s %k K
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